
MADEINTHEUK /LAZERLAMPS /LAZERLAMPS

Montage-Anleitung

Fixierungsbügel
SENTINEL



3
6

7

1

5

4

2

ITEM
NO.

DESCRIPTION QTY.

1 Lü�ungsbügel 1

2 Lampenhalterung 1

3 M4 X 12MM Schraube
(Innensechkantschraube)

2

4 M4 Unterlagscheibe 4

5 M4 selbsichernde Mu�er 2

6 M5 X 10MM Schraube
(selbstschneidende Schraube-
!MAX Drehmoment 4NM!)

1

7 M5 Unterlagscheibe 1


